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INSTRUCTIONS TO CANDIDATFS 

1. Write your distinguishing nwnber at the top of the front cover of the answer book provided. 

2. This examination paper contains six questions. ATIEMPI' FOUR QUESTIONS ONLY. QUESTION 1 IS 
COMPULSORY. Answer any three from the other five. 

3. Write your answer in the answer book provided and hand it in: DO NOT TEAR Our ANY PAGFS. 

4. Do all roush working on the blank left hand pages of the answer book. 

S. Clarity in setting out the key steps in solutions to problems will be taken into account when allotting 
marks. 

6. Mathematical tables are provided. Slide rules may be used. 
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QUF.STIOB 1 (CCIG'OLSORY) EACH PART WOlml 4 JWZlCS (Total 4o marim) 

(a) Sol Te for x : 2 
X • 0e1X + 0eo6 

(b) A right angled tr:l.angl.• has one aide 8.3 ea long and the bnotemae 
is 12.4 ea long. What is the length of the other sidet 

( c) J':l.Dd the value of 

(d) The xth root of a nmaber can be fOUDd by dividing the log of the 
DWllber by x. 

If the lo&io of 1' is 2.3127 , 

evaluate Vii 
(e) Using tables give numerical values for 

(i) Cos 165° 20' 

(ii) Tan 100° 45• 

(f) If the ratio 1 is to x is as the ratio (x-1) is to 1 

[ 1 I ,c :: (,c-1) : 1] , find ,c • 

(g) In the equation s .-II 
✓v2 + u2 

t make u the subject. 

(h) A Tector has magnitude 8 units, direction 37° East of North. 
GiTe its North and East components. 

(j) If sin 8 • A write down an expression in A tor tan 6 • 

(k) 1.l:xpresa angle Q in teru of angles A and B • 

C 



QUI.S'?ION 2 (20 maiics) 

A straight line graph passes through the point (111) and 
has a elope of - 0.5. 

.l parabola has a mjnimnm point at (O, -3) and x axis intercepts 
at+ 4 and - 4. 

(i) Draw the graphs on common x and y axes. 

(ii) Deduce and write down the equations for 
both graphs. 

(iii) Show by simplifying the algebraic equation 
the exact values of the graphical. intercept 
points. 

(Graph paper included) 

(4 marks) 

(8 marks) 

(8 marks) 

QUESTION 3 (20 marks) 

A shaft is 1.4 • long am 30 mm in diameter and has a slot 
cut longitudinally in it to the depth ~ in the diagram. The 
lips of the slot subtend an angle of 4o at the centre. The slot is 
symmetrical on the centre line. Calculate the volume of material 
remajning in the shaft after the slot has been cut. 

Fig.1 

' I \ 
I \ 

'......40•~ 

QUESTION 4 (20 mark.a) 

Solve for x and y 

log x + log y a 2 
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QU~TIOII 5 (20 marks) 

Fig. 2 shows a rectangle ABCD wi. th the dimensions 10 CIII. and 6 er- • 
Diagonal BD and line EC intersect at x. Cal.cul.ate the distance bl: 
(Rote: Graphical answer not accepted). 

A 10 cm B 

E 

3cm 

6cm Fig.2 

Q~TION 6 (20 marks) 

(a) If log S + log t • log (S + t) , expreae t in terms of S 
in its simplest fom and hence find t who S • 3 • (10 marka) 

(b) 'fhe fuel cost for a ship is $3 per hour when the ship is not moving 
and increases by an aaotmt proportional to the cube of i ta 
speed iD knots. 

If the fuel cost is S6.75 per hour at 15 knots find the fuel 
cost for a speed of 30 knots. (10 marks) 

Pue4 
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